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Instructions : .~ (1)  All questions carry equal marks.

1L (A

(B)

3. (A)
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(ii) ~ Why Allene derivatives become optically active though

(2) Fl gures to the right indicate full marks of the sub- questlons

Discuss the opucal isomerism of diphenyl derivatives.
OR '
(i) Discuss the optical isomerism of spiran compounds. ¢
I‘ 0Ssess
opang, y ds cis product

chirality ? Explain. . .
Explain how meso (Erythro) 1-bromo-1,2-di

while its d1(threo) form gives trans productth ':'_"‘-:-,. 7

1i)\ \Selenium dioxide.
SCuss synthetlc applications and mechanism. )
iscuss the principle, mechanism and synthetic apphcatxons of the following

‘reaction : o R 7
. Hoffmann reaction ‘. o X ‘

OR

_ Diels-Alder reaction.

Answer the following questions : - _ 8
(i) - Discuss the stereochemistry of SN’ reaction. '
(ii) Write a note on “Nelghbounng Group Participation™.
OR
Answer the following questions :

(i) Write a note on E2 reaction mechanism.

(ii) Explain the effect of solvent and base on nucleophilic substitution reaction.
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(B) Answer the following :
Give evidences to prove benzyne mechanism in nucleophilic aromatic substitution.

OR
Why the reactivity of aromatic nucleophilic substitution is more in presence of
electrophilic reagent ?

4.  (A) Prove the structure of (+) sucrose.
OR '
Discuss the reactions which proves the C| — C, linkage present in (+) Maltose.

(B) Give the synthesis of the following : ‘ . ‘ 8
(i) Adenine
(ii) Thymine
(iii) Purine ,

OR

Give the synthesis of the following :
(i) Guanin
(ii) Uracil
(iii) Cytosine.

5. . Answer the following objective questions
(1) Which product is obtained
acid ? :

(2) How will y(-)u pre
What is _-:_ 7

(10) Which product is obtained when neopentyl bromide reacts W1th hot ethanol.
. (11) Give the equation of Internal nucleophilic substitution reaction (SN,

(12) Give the structure of lactobionic acid.

(13) What is inverted sugar ? _

(14) How will you prove a-glucose linked to B-fructose in sucrose ?
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